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Special Right Triangles
Reteaching
In a 45(-45(-90( triangle, the legs are the same length.
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Problem
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What is the value of the variable, s?
In a 45(-45(-90( triangle, the hypotenuse is 
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 times the length of the leg.
Divide both sides by 
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.
Rationalize the denominator.
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In a 45(-45(-90( triangle the length of the leg is 
[image: image9.wmf]2

hypotenuse.

2

´



[image: image10.wmf]52

s

=


Exercises
Complete each exercise.
1. Draw a horizontal line segment on centimeter grid paper so that the endpoints are at the intersections of grid lines.
2. Use a protractor and a straightedge to construct a 45(-45(-90( triangle.
3. Use the 45(-45(-90( Triangle Theorem to calculate the lengths of the legs. Round to the nearest tenth.
4. Measure the lengths of the legs to the nearest tenth of a centimeter. Compare your calculated results and your measured results.
Use the diagrams below each exercise to complete Exercises 5–7.
5. Find the length of the leg
6. Find the length of the
7. Find the length of the leg
of the triangle.
hypotenuse of the triangle.
of the triangle.
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Special Right Triangles
Reteaching (continued)
In a 30(-60(-90( triangle, the longer leg is opposite the 60( angle and the shorter leg is opposite the 30( angle.
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Problem
Find the value of each variable
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In a 30(-60(-90( triangle the length of the longer
leg is 
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 times the length of the shorter leg.
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Divide both side by 
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Rationalize the denominator.

The length of the hypotenuse is twice the length of the shorter leg.
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Exercises
Complete each exercise.
8. Draw a horizontal line segment on centimeter grid paper so that the endpoints are at the intersections of grid lines.
9. Use a protractor and a straightedge to construct a 308-608-908 triangle with your segment as one of its sides.
10. Use the 30(-60(-90( Triangle Theorem to calculate the lengths of the other two sides. Round to the nearest tenth.
11. Measure the lengths of the sides to the nearest tenth of a centimeter.
12. Compare your calculated results with your measured results.
13. Repeat the activity with a different segment.
For Exercises 14–17, find the value of each variable.
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